I W9l shieaer (meft) udterr 2017

(ST Afed

T GI4-UH) 26.10.2018 (fafrer arefn)

HMAT FATA/General Knowledge

1. The amount of water recommended by the
United Nations for drinking,washing, cooking
and maintaining proper hygiene is a minimum

(1) R liter per person per day.

TR TME g1 O, 4, @ v et sfem
TEeEal i 90 TEE o faw syt =gaam
U=t i "=, Wi st wieed ... et €

(a) 50 (by 20

(¢) 75 (dy 10

Ans : (a) S 2010 § §9F T¢ WEEW A Weo 99
F I F UF qWA AGEE g9 w gEE H9
foren forod 163 o507 330 F © 122 F 595 9 § Oem
o vd 41 90 3 wRE A 9 A o faasr 2010
5 grafisn ofies F geafd 9 g ofia &= gest g
=1, B 961 9w sl w1 Aifes Afamn 81 d9g
wEa F fan vifes e o S A el =fE so
et 21

2. The micro-organisms that convert the dead

plants and animals to humus are known as:

ga Star R w=ed W me-fad § uiatia

& AT YaW SrEr &1 A o wEr A g2

(a) Bacteria /SET]

{(b) Fungus /%7TH

(c) Protozoa ST

(d) Decomposers /#T9Z4 FA AT
Ans : (d) ATEISH TT H{THEA F AT (Decomposers) F
WA GAITSEr SEw, WEEE, FEE (fungs) SIS
S 8 7 dedd, St v g7 e e
2l T UF faufia e we FEtaw 9@ SEEEAE
dife § ufiafdd w2 30 &1 3 faufed & ol
AAE § 96 WH § A1 HUNSAEAl gl WA & e

EInEA

3. Groundwater gets recharged by infiltration. At
places, the ground water is stored between
layers of hard rock below the water table. This
water is known as:

water, e & grr fremst & = 81 F9 et
W, YAA WIWAE W % Arel wen wge e
AT & o BT €1 39 T w6

(a) Aquifer /TFEH

(b) Rainwater /@131 F1 91

(¢) Pool /A=

Ans : (a) ST I UFHEL (Aquifer) TE F WS Fi
g & A Al # UH U HER (WA) © S W g
UFAT @A 8 UE AAE g Aagd # e amE
AT TS H A 21 Wi 9 9ea foE g e
A A TP W W e, Weed WF G968
TEE F TE F AE I R, T I T

(d) Underwater /5119

s e s
4, Which among the following is a disease caused
by virus?

fararoy & =wror ey © & i o sford gt &2
{a) Cholera &=
(b) Typhoid /31T =X
{c) Dvsentery Jufas
(d) Tuberculosis /&3 T
Ans : (*) 799 oA B
Freit w@idt, i (erEm)
femo &7 @ AT T - ofern, difen, €, wEE
A2 M M e B R 2 - O - B 2 A [
AT |
FAF/HN | BE A W - w6, @, geel, TE e
=1 |
S.

The Rural Housing Fund was set up in ...........
to enable primary lending institutions to access
funds for extending housing finance to targeted
groups in rural areas at competitive rates.

arfror amare fafir = od et fepam

T o7 TTfen wrerfiren ST Weatar st wieemeff

=i ot andior gt o wfee wwEr w6, smErs

faet wem =7+ & fAu o= Sueer o ° aan

HATAT AT Teh|

(a) 2008-09 (b) 2014-15

(c) 2016-17 (d) 2003-04
Ans : (a) AT FAEE T (Rural Housing Fund) &
N 2008-09 ¥ wnfgm fRam mEm oa@r s wEfEE wmw
HEEl i A 3 W oA eEi 0 A e =5
A fag wem # & fau g9 ooy s § oem
AT A W | g STy Fwo A (RHLF) & 2eme
T 1996 5 & T )

6. Frank Whittle is related to which of the below
inventions?

e faeer gmn o O & g =1 anfassw
e Tram &7

(a) Electromagnetism /@[ o

1111111111
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(b) Benzene, gﬂld gases and optical glass

[, T T 3N sifesd =
The mduction of electric current
/o yare-

(d) Jet engine /52 3fo
hns:(d}ﬁ?ﬁ?ﬂﬂﬁﬁﬂ?ﬁ%ﬁﬁmml
WZ §9 The & g W F £ 9§ -
U W oA W A F OET F ITEM w g s
famrt & S §99 @ A o s 2
7. Who is the author of the book "Kashmir: The

Vajpavee Years:?

“eudir : & FTaTEr TEE Awes fRam &

oEw T 87

(a) Sanjay Jain /597 59

(b) R NP Singh /9% 17 df fijz

(¢) AS Dulat /T TH &4

(d) Varun Yadav /357 A4
Ans : (¢) WG T FEHAR ¢ & g s 9w
i@ & v@Es el 98 g (AS. Dulat) &I
1999 F 2000 7F UMW I favemur fm
(RAW.) F 973 7 9% ¥
8. When did the President of India give assent to

the Central GST Law?

FT GST FET HI, UNA & ey ¥ Fd

HEAlT wer @i &7

(a) 18" April 2017 /18 37, 2017

(b) 22™ April 2017 /22 3, 2017

(¢) 5" April 2017 /5 =79, 2017

(d) 12" April 2017/12 &¥ia, 2017
Ans : (d) = 75 vd g9 = (Head) uF ey
81 gavgm Sfumdt an & aen fva @ oggen
aw wim 21 Aa A, qmA § 01 @ 2017 | @0y A
T g1 WLUEAL WA & 12 3 2017 & 96T &

(c)

10. "Handmade paper" is selected as a product

from the......... district of Uttar Pradesh under
the "One district One Product” scheme.
"ww faem, wm IR AT & AEA
" gEaTftia e’ o Ieares & ferg S wer
........... et @Rt 5= = )

Amethi /#HST

Jalaun /et
(c) Deoria Jeafem

{d) Kushinagar fﬂﬁ"ﬁiﬂﬂ

(a)
(b)

Ans : (b) 24 SFEAT, 2018 H I WS EEH F A
T I WEI TN AT U foen U 36 (One district
one product) TEET & IERS R TN IW AT &
Aed 3.0 & WaE f9d ® gmiatEa we § S
# fow 371 ™0 8 Al e e @ e ud Ee

T & WEE % e & T g4 TR

11.  15vear old Shardul Vihan, who is Asian Games
2018 Silver medalist in double trap shooting
event, hails from .......... district of Uttar
Pradesh.

foraTE We 2018 % TEer 20 IfET H TeA
wew fasman 15 adffa ynge fagm 3w wewr &
........... forer & €1

Bulandshahr /JaZ3TEL

Aligarh /IR

Meerut /573

(d) Saharanpur /9ETAY

Ans : (c) TEE fEm gfe ool & dHafam 80 g 15
o = 3§ § qEN % gEe 39 YET F 2018 % IR
gell § & 92 S 4911 Ed @eH e §9 # IW

gl S el 9 o HEAfa wEe A oAt

0. The Information Technology [Ameudment]
Act, 2008 came into force on October 27...

AT Wit (weiee) s, 2008, 27

AT ........ Tl T E3TI
(a) 2009 (b) 2016
(¢) 2001 (d) 2005

Ans : (a) T S (HEeE) st 2008, 27
WA, 2009 F AL ZA | G S i w5
a9 2000 ¥ @N] A T a1 emAer # 15 fgr,
2006 F gEAT S (Gvide) @fefiEn 2006 #
wrFa § g9 o T ud 23 RBEeE, 2008 #OFES &
2 FEA A 35 e w1 fEE i A swad, 2000 &
qeA S (deiee) sfafEm, 2008 #Fogwfd |
A Hofl WEE A R §H 9NA & e # syl

1 famm mam

vay F 82 fae & e A )
12.

United Province of Agra and Awadh, now
known as Uttar Pradesh, shifted its capital
from .......... to Lucknow in the year 1921,

s 3w srerer & ggeR wia, fas et I

WEIT < T | AT WA, 7 99 1921 H ot
THAIHT ol e T TE@AT W EIHARS (AT
T
(a)
(b)

Agra /HT

Dehradun /&7

(c) Allahabad /3ETETEE

(d) Kanpur /&L
hns:{c}Mﬁﬂﬁﬂaﬁﬁﬂ?ﬁmﬁﬁ]ﬁaﬁmﬂﬁm
% AWM § WA AW 2, # T & ey 19218, #
TARMERE (FATHE) # oEaEs MEmia & 18 4 FHeE
HAE | oS IO EYT S WUIEAE ° dUias TeeE
G M e | A D 1 T e e s e = 1 A
TRY 1 Ied AEEE sEeEE 4 Reg 2 R wE
aveds wETs § 2
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Gautam Budha's mother belonged to ruling
family of Deodah state, which is now in the
......... district of Uttar Pradesh.

AW g F W FAEE T F IS uiET q

oft ST 318 I9T WSH & .....ovnnn.. T H

(a) Deoria /580

(b) Gorakhpur /THET

(¢) Basti /351

(d) Gonda /7=
Ans : (c) T2 A9 gE A o F AW SEE 971 9
IFEE T F FAE 9 F ddfa o 33eE 7= Fm
oqg § I ST & a= fael d fem 8 Sedg e
Al 3.9, F A9 H:i dw W T g FeE TRy 9

14.

13.

The Ashram of Valmiki was in Brahmvarta,
which is located in:

ATeH TR o1 39T Fe0ad § 97T 90 ... H 2

(a) Bithoor /=37

(b) Jhansi /3!

(c) Lalitpur /@A

(d) Urai /3%
Ans : (a) TEM aredif anyy @8 me 2, o womf
A J T gEEEy THE F o= # o4 uef
ATl F EA FEEd § 91, N fF aEne # fagw §
fom 21 gy uw wfog R wiffs o= 2, &t &5 3w

TS & FAE § A F
15. Uttar Pradesh brought out first Hindi
newspaper named ... edited by govind

Raghunath on 1* January, 1845,
el FFAt, 1845 ® IET WeI Ao ATHH

ugen =gt weTems fraren faw wifeg gy

¥ wufae femram @m

(a) Saraswati /G

(b) Banaras Akhbar /97H FEER

(¢) Hans /89

(d) Jagran /S0
Ans : (b) | FFT 1845 F IW WS TH ¥ TINH
Ear AE wen e wuen 93 freren famer miEs
A A gMfEd A 41 sFEEAR % H@Ee® (Director)
T e faan e 41 &= &1 w99 99eER ™ 3=
ArvE o faEs SHeE 30 91826 § Fowm § I
e T o) 3EG HWES ERR IEd 41 56 H
sy § 30 9 i e wafia fEg gamn s
16.

Sharqgi ruler of Jaunpur, Sultan Hussain
Sharqi, was a great musician and developed
Bada Khyal, which was developed on the

----------

(a) Thumri /A (b)  Ghazal/Tae
() Quawali/F=TEAl (dy Dadra/a1210

Ans:{a}@ﬁ%@%ﬁﬁﬁﬁ?ﬁ%%@
wE @i § 39 @, @3 9= i ovaEm #d g
91 IEH I F T W A W A R

17. Bhed Kund, where Arjun took aim at the fish
to win Draupadi swayamvar, is situated in:

&g s, T o 3 At & o e 3 oy
TGt i TI9T=T S=TET 4T, F97 WET F v
T E

(a) Etawah /32191

(b) Firozabad /fHemams

(¢) Farrukhabad /FeEERE

(d) Barabanki /&

Ans:{c}'ﬁ?@ (Bhed kund), T@r Mﬂdffql'tuﬂ T
A AR I e ) U 2 e L 2 e e e
o =9 91, 3 W1 U F weaEn fae | fiem
2|

Name the British Governor General who

introduced railways in India?

30 fafeyr wady s & A aed e

WA | {e7e a1 Ay R ar?

(a) Lord Auckland /&2 fiFeg

(b} Sir Charles Metcalfe /37 Ied HEFHEE

(¢) Lord Hastings /& gfmg

(d) Lord Dalhousic /T2 Sl
Ans : (d) @ SEEET 9N § 1848 H 1856 dF T
FHA @I F g A ura § 399 an 163799, 1853
§ 0 arad § gm F A9 (34fd) Temd = f o
Zolalsl & AR § 169 F F9F JET A6 8
19,

18.

Which state has the lowest per capita income in
India as per to report by Ministry of Statistics
in 20177

wiftzaht Tmera Wi furE 2017 & 399N, 96
W form e o wEH ww Wiy =it o g7

(a) Uttar Pradesh /208 T29

(b) West Bengal /92 F7Te

(c) Bihar /fFRH

(d) Odisha /3fEem

Ans : (¢c) F3 Wi deE F: OO 2017 F
WanR, ‘faer’ & uff =fs @@ 3= TS A e o
TaE F9 2

pattern of:
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20. With which musical instrument is the noted

musician Arvind Parikh Associated?

oF % AT 2 §U &7

(a) Tabla /A3 (b) Sitar /FHAR

(c) Flute /argf (d) Shehnai /&R
Ans : (b) 3WfE= M@ # F9 19 FEZE, 19278, H
HEHEERE I H A 411 WE= udiE feAn aeE
g 41 § 92 us FiTEn § FEE R beer
o g TR 9EF & 59§ 9 94 91 9. gieEE
F w9 ° wym €1
21.

What is the estimated quantity of food grain
output during the crop vear ending June 20187

F 2018 T FUTA B A6 FHEA a9 & 20

AT IUTEA Wi AT WA T §7

(a) 254.83 Million tonnes /254.83 @feaT =9

(b) 264.83 Million tonnes /264.83 fafaas 29

(c) 274.83 Million tonnes /274.83 fafeas z3

(d) 284.83 Million tonnes /284.83 faferaT ==
Ans : (d) @1 UH FE dEeE F §9 2018 F gAfa,
GAA § A1E F IEA 99 F 5 § (2017-18) F FHA
a8 # (284.83) ffeem 29 F 35N T A UEEd @
FIAE &1 S W 9HEA & AR T, 999, 92 e
wH Tl | e A= g
22,

What is the total number of stocks constituting
the basket on which the S and P BSE Sensex,
or the Sensitive Index is based?

S & P BSE 2o 4T dfged 2w faq o
ATENRA & 39 S&he §
(a) Twenty /& (b) Thirty /8
(¢) Forty /aTeE (dy Fifty /7919
Ans : (b) TH, wrg §  dued d9e (vE e b §ie
WiF U= Gaavie gadie) 9 Fuag 30 6
ff w=r e 21 9% 30 fadfg =0 3 st dofat & oow

BAEIAF I BEE

Fi-TeAlE Ahe-92 8 WiF O 290 |
23.  Article 20 of the Constitution of India deals
with:

AT HiTeT & AT 20 ... T T T
(a) Abolition of titles /T=fEd1 F1 I

(b) Protection in respect of conviction for
offences /ZM-fafE & w=d § wHagm
Continuance of the rights of citizenship
AR &% SEER i

Promotion of co-operative societies /F@HMH]

(c)

(d)

Ans : (b) 97 F Hfaem § wees-20 afafs ® e

¥ dwm § deEfed ¢ 39% M @9 wER F amEee

o T #-

1. Tordl ¥t = = U WY F S0 thEd UF 99 "
o |

2. =ff BRI 9T FH F gAg S F § 3 F A
& won faerdt a1 f% o2 9 & ded S 9 A A
|

3. = & Wd F fGFg AEwg # TEE & # as

e A S
The state has to provide free and compulsory
education to all children of the age of to 14
vears under Article 21A of the Constitution of

India. Fill in the blank with the most
appropriate option.

AT WG & A998 21A & 78, T &l
e W 14 TH W Y o T A RO

24,

3T arfrare forem war &t 21
(a) 4 (b} 6
(c) & (d) 10

ﬁns:{h}ﬂﬂﬁgﬁﬂﬁﬂﬂﬁw-il o UE 3fEE
A § Hatua @1 sEE A 21(A) & AEd T 6
¥ 14 3t F A F 9w awa A UH 20§ S fF
ey, fafg (we) s feifa = foes od sfed
o F 3969 A 21(A) T 865 HEGH HuEd
A e e I e O ) O g O = 2
(RTE) T3 2009 H =40

25,

Which of the following statements is incorrect?

for o o &9 A weET T &7

(a) The Governor can prorogue the Legislative
Council of a state. /7599, T8 #H &HY=
TR F1 T AT 2

The Governor can prorogue the Legislative
Assembly of a state. /=971, T = faamE

T H T L HEA
The Governor can dissolve the Legislative
Council of a state. /U599 =4 &l fEae
qftwE & W F TEHAT

The Govermor can dissolve the Legislative
Assembly, of a state, /T=99H, T=9 F H94
Y F 4T F GFA 2

Ans : (¢) =7 169 F AR T=9 99 9z 799
3= Ud WE e § TEE 9EH U@ B9 § F° 40
(T FTER F, 36) @R AfaF |4 afoF fFamen F 39
e F e 1/3 g ) T T # fum e
F 9 T8 & gEa E, e oer A faem | & o

(b)

(c)

(d)

L HEA B
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Article 22 of the Constitution of India deals
with:
arHE wfEar w5 srgeee 22 e o ° feow
+ -& %?
(a) Prohibition of discrimination on grounds of
religion, race, caste, sex or place of birth
o, Wi, S, &0 @ 59 W F R W
TEaEg 1 Ay

Equality of opportunity in matters of puhlm
employment / T & o §
HFE & FAEA
Protection against arrest and detention in
certain cases /5@ AW 0 e 3 T
& faears Hwo
(d) Right to property /99f &1 3fHH

Ans : (c) AT dfaum # seE-22 F@ oamel §
firgarT =i fRoam & figers dwo @ ddfas 21 39
SEN A = F e 20§ fewEr e o g A
8§ vEr F e & 0 #
| fewrea & fow s &1 S aarn g
2. 24 692 F R 3T IS & ooy F wy R smom
3. = F AU THI F TFA § TAR® W F AGFH
ol

Who was the President of India at the time of

emergency in 1975 /1975 T 3ATOTART o TS

WA & WEUfT ST 47

{a) R. Venkataraman /3N, AR 10

(b) K. R. Narayanan /. AT, AEIA

(¢) Mohammad Hidayatullah /HTe=% fEamdean

(d) Fakhruddin Ali Ahmed /Fa%e1a 23l 3¥ewe
Ans : (d) WRA ¥ 2659, 1975 ¥ 21 WM, 1977 7%
Hiafts onifa @ TEEE F MR W AAEE ST 9n)
YA & AFRe TP FEee 3Te 3EHE A AR
A TIEEEA A e ME W 9eR W AR
Hfaym & =R 352 & 99M NG H e @]
T FT HOT HT A A
28.

26.

(b)

(¢)

27.

The Capital of Lebanon is:

TEATT F AT E
(a) Beirut /4% (b) Tripali /e
(¢) Sidon /d=Em (d) Tyre /271

Ans : (a) A gl w9 9 ofgd ofien § goe
g F @ 42 W feom uF S 3w ) TEE I R
ud i Hifim e afo § geee figd ¥ CFER d@EAe
i T T G e T A o #1 e

kiRt o T wfifeEm =7 TemET €1

29. Which of the following is the currency of
Kazakhastan?
FIATEEH W g e § | F o §7
(a) Fraﬂc;’ﬁﬁ (b) Loti /@2

(c) Tenge /@1 (d) Shekel /¥iHe

Ans : (¢) FAEEE A F AE GEd T2 39 &1 JH
% 7% 337 Aifgaa o= & feem o 1991 # SifgE 99 &
faweza % @@ g9 oI F WA S A T A
A1 § | FerEEE & TaaE S 2

30.  Which of the following is the most populated
country in South America?

afaror smfier o ey & o 9 @1 29 TER

arferen saTEr AT 29T 87
(a) Bolivia /A9 (b) Brazil /AT
(c) Peru,/9% (d) Chile /F=e

Ans : (b) el Wi faea & = 599 =2 R
2 gme T e s weElm ¥ osne A9 &
SMEl F WM ¥ g e 21 were afaf s@fia
WEIEY W WaH w@gl U §alus EE aren &9
foma @ werdm & e 4gufavE qum W faEn #
Aite FaE § gfEn S ofEat TeE T 49 8

31.  Which of the following nations of Asia is the

largest producer of oil (petroleum)?
b ol i S W S

@@mmmﬁﬁm%ﬂﬁ?

(a) Saudi Arabia/H34 3F

(b) Yemen /984

(c) [ranf'ﬁTTH'

(d) Iraq /30
Ans : (a) T # T 3E w4 da (TEifagm) @
HaH TET IS 29 71 E0F (OPEC) Sifeas 3wmE
F4 A 9 & Hea 2, o Iz &
g 91et § &) A9Sen da e § wey o T
Eceeciic e Rrcipis cl il 4

32.  Which among the following is the oldest oil
(petroleum) producing state of India?

FT W UWEA W FEH AT e

(UETTeTa) IeaTgen T €7
Odisha /fETm
Jharkhand /FES
Assam /HHTH

{dj Madhya Pradesh /99 q391
Ans : (¢) 97%A § Tag T RifEAY IR U199 59
31 femard vt srom Uew # A9 A0 F w9 F W S
21 fomErd (ammm) | ufvmn | weelt an A9 Fu w1 @e
gl wd g4 1901 2. ufymn & weet fieead @t gE
o may e femErE ° sl 9% 49 F 3RS F44 9
T TH F E
33. Who is the Chairperson of India's national

Human Rights Commission as of August 20187

W, 2018 & HENW, WWA & WEA
TTTETIERTT FTET o a0 a7eqe i 7
{a) Justice K.G. Balakrishnan fﬁ‘l’qﬁﬁ .41,

EIGERUE!

(a)
(b)
(c)
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Justice Pinaki Chandra Ghose /~araqfd fmmh
=% Uy

(¢) Justice H.L. Dattu /=EWqfd T=.0d. a7

(d) Justice D. Murugesan /=g 2. q&TE
Ans : (¢) 9 UFE gEEfEER @mEm UE EEw
fafrs dem &1 o=t DA 12 HEEAT 1993 & g A
TFAAE (3T 2018) § I TEE AEEEET S F
WA RN UAUA. & @l WHEngsR S EnT &
?mnmﬂfmmamaﬁm 1993 & ded # M
2
34,

(b)

What is the total number of commandos in the
all-woman Special Weapons and Tactics
(SWAT) team inducted in India by the Delhi
Police in August 20187

I 2018 § WA # faeett gierd goT Tieq
we Afgem Wy dioem 3T 2| (SWAT)

& HurEt A Fie wean et §7
(a) 36 (b) 46
(c) 36 (d) 66

Ans : (a) Beell gferm § sirFar B sfae # o
A R vl - geEufeen favm efem wd wwEifd
(TH.S L) &W fed & 7 81 39 W 9 3o wfeen
FAE H HE 36" T

35.

With which country has India signed an
agreement in May 2018 on land border
crossing?

AT F WE 2018 H, T2 ATST FOHT TEHHAT o

ferm <91 o wrer FwATe fau €7

(a) Bhutan /9<T4

(b) Bangladesh AT

(c) Myanmar /FIHR

(d) Nﬂpﬂlfﬁﬂlﬁ'r
Ans : (¢) 3FF4, 2018 = TG A FOTEEEE °
T dfidze A oz wd @t & g6y F 9mR 9
AR % A HEEd S He[ & 9RA F 11 "%, 2018
F1 ofe FE FRT GEG W =i F @Y R
M OUIE T =T 290 & AT F oAy gt F gt
& FEE W A g g

Jo. Who was given the Outstanding
Parliamentarian award for the vear 2016 by
the President of India in August 2018?
a9 2016 & &0, WA & TEGfT FET 30T,
2018 W IeHpE TESE YR W feREeRt Fare
T §7
(a) Ghulam Nabi Azad (TAM F&1 3{T=2
(b) Dinesh Trivedi NEctiBEEE]
(c) Dr. Nazma Heptullah /=1, =1 %‘qﬂﬁﬂi
(d) Hukumdev Narayan Yadav H'@’,ﬂ,ﬂﬂ'ﬂ B IRAE |

Ans : (b) fma a5t % Td¥e gime TEER WA 7 A
= freaq &-

2013- T T FTqee

2014- EFY 29 THIEM AEF (A1)

2015- AW FE HATAE (FIH)
2016- e Bt (qomeer i)

2017- qifed AEAE (FF #e AW 2)

EIEE]

37.  Who is the Chairman of the Securities and
Exchange Board of India (SEBI) as of August
20187
IMEA, 2018 & FIAW, WNAET wieafy eiw
fafrra &2 (SEBI) &1 IA8T 31A8T i &7
(a) Ajay Tyagi /359 =0
(b) G.Mahalingam /=1, FEIATH
(c) S.K.Mohanty /TH. F A
(d) UK. Sinha /4.5 fa=r

Ans : (a) TRAE wRAf s B oaE (SEBD #

WIOAT 12 37, 19885, & UF W wiEs AEE F s

i g 4 30 SFEd 1992 § U STAREY 50 WER |

T mifats f=m F1 a= me W= ) adne | s

WA ‘A AT UE e gag § g

38. are used by dentists to see an enlarged

image of the teeth,

ﬁﬁﬂﬂﬁfﬂ{enlargeﬂ]ﬁﬁlﬁ%@ﬁ%ﬁm{
2l
(a)
(b)

Concave mirrors /3T8dd 397
Convex mirrors /39 2407

{c) Bifocal mirrors ﬁllftﬁlw GLL

(d) Plain mirrors /497E] Guly
Ans : {a]?:l'?ﬁ At {&n]arged]ﬁﬁi F =EA 1%111
g % fafrast s/ swEae S90 I S e
TF WA Ot e # 22 oenge § oft srEee gdm
F1 74 fFm S 2
T 39a U GreT miEE F A § & 3 &) Im
oEEE | ME F ZEAL A9 GR F OMEA # oI\
%A 2| §HE e T @ged # ff I9a adu &
w4 fa a2

HEATHeh &T9dT/Numerical Ability

39. It took 75 days for 42 people to construct a
house. What fraction of the same work can be

completed by 28 people in 90 days?
fereft =@ =t T & faw 42 =atwal gen 75

fem =1 wug fean smar §1 28 saivRal g6 90

fa=t & = = femamn W qar feRar < weRm?
2 4

(a)

3 ®) 5
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© 3 @ L Ans : (d) T2 fom 971 & A9 #9109 x fEfE 2
6 , 15 _ UE gE1 # Ny R # A
Ans : (b) 32 3R | FE & 90 B 4 w4 a@ 135 |
=feral & o= w2 oAt x:—S:IEf:cFFﬁ.FHET
“E’f?ﬁﬂfﬂ T 3 Fa e & T W = (y) Ry
48
el :42";5:35ﬁ=r i A
dfF 35 =i 39 1 @ # 90 fa § F2a €, o, Xy =12
28 =9 90 fBA | =9 74 =, | 18—y =12
= 6 fFlt. /92T = =T #°F 9E
=33*‘9”:E:fm@aﬁﬁ| y /
35=90 35 3 X X _ _||42.  What is the value of
Herfeuss fafin: AT 28 =1 F9 F 9 = 91 34 §
- ‘?1+[3‘3—{3-ﬂ—[3]—ﬁl]+4x5}}]=
qU FAA 2
M,D, M,D, ffafiae & w &7
W W, 72+ 38-{30-(31-60+4x5)} | =
42%75  28x90
| = (a) -2 (by -3
’ X (c) 4 (d) -8
X == Ans : (a) o= T =dw,
40.  Prabhat cycled a distance of 240 kilometre at a 72 +{35— {3{}—{3] —:’::{}+4x5]}}
certain speed. If he cycled 3km faster every \
hour, he would have taken 4 hours fewer to =72+{3E—{3“—{3|—153{5]j}
reach the destination, What was the speed in .
km/hr at which Prabhat actually cycled? =72+ [JE {3[1 l[ 44”]
mqasﬁfamnﬁrﬁnnﬁﬁﬁﬁh*{aﬁqﬁ =72 [38-{30+44]]
T THIAT &1 AE Wedeh we famdt, sifirn awr nfe
F TTZRRE SIETAT 1 A E TiAe W wger i 4 = 72-+[38-74]
e ®HH WA oIl §1 WA A "rEd ° wigiee =72 +[-36]
fepm fopddt e =t nfr & =emg? "
133; ‘;’2 EE; :g 43.  What is the value of
— 113+11.3+1.13+0.113+0.0113 =
Ans : (¢) T FEfEFA F: T x km/hr # - PrevRriEa &7 A o &7
240 240 '
R R 113+11.3+1.13+0.113+0.0113 =
240 240+ 4x +12 (a) 125.5643 (b) 125.5453
| T xiA (c) 125.5553 (d) 125.5543
= 240x-+4x"+12x = 240x+720 Ans : (d) T30 T =,
= 43.;%11;:—?20 x = 113+11.3+1.13+0.113+0.0113
; x"*’;%,”:”lz I x = 113+11+140.3+0.13+0.11340.0113
X = X =
x = 125+0.5543
: WETRE F T 1 2km/he AATE B9 7 ) vyt
41.  In still water, Rajni can row 135 km in 7.5 —
hours, while she can row 48km upstream in 4| 44 What is the difference between l and l 7
hours. What is the speed of the current in 16 48
km/hr? . 7 1 .
feorr ST § oA 7.5 wE H 13sfadt T e Eaﬂ?ﬁﬁmmﬁ?
AT § Wt o8 unr o faofia 4 92 F 48 . q
feprft e =rem wWeRdt ¥ UTR SR =T = e (@ -2 & -
fepeft eter o = 872 ; g
(a) 4 (by 4.5 (c) m (d) >
(€} 5 (dy 6 :
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Ans : (b) &30 T =,
7 7

X =
16 48
7(48-16)
6= 48
= Twx32
16 %48
_I
24
16, 24 3T 28 9 ¥ W N1 [@aad g9
ATt TEw A 4 T @ wEA " i
(a) 9914 (b) 9764
(c) 9744 (d) 9864
Ans:(c) T8 16, 24 F 28 | A9, =336
9 TR s i TaE TE TE = 9999
9999 FH 336 W 9 4 T A ITEA
= 255
I 16, 24 UF 28 & qula: faifam &9 Al den
= 0999255 = 9744
160, 720 3T 400 =T HAX. T &7
(a) 20 (b) 40
(c) 80 (dy 160
Ans : (e) & TE HEIAT 160, 720 TF 400 = AHD,,
160 = 2x2x2x 2% 2x=5
T2 =22 2x2x3x3Ix5
400 = 222X 55
HAY = 2x2w2%2x5= 80 (IHAMS )
47, = 9 MR HEETe ° ° ST | aE
i 2
(a) 20163
(c) 10404
Ans:(a) ?{ﬁi,
200163 = (143x143)" - 286
21316 = 146x146=(146)
10404 = 102x102=(102)
14641 = 121=121=(121)
3 20163 UF qof & g wF 2
48. AfE 264 & 31: 13 & U | faafaa e
AT & A1 BT 90T =T 019 497 &7
(a) 63 (b) 78
(c) 91 (dy 104
Ans : (b) 3 TE FEAT = 264
39 31:13 % I9A § faafem +H w®,

X

45,

46.

(by 21316
(d) 14641

S arm gy g o 204%X13_264x13 o o
31+13 44
49. Tt weror witem ® arder Wi @A ek fe0

T2RA9TE 3faRT Wi ITAYIRAT BT § Fle wia
@& ATy 37 650 € o Ear- Wity iRt &

e o we e T £
{a) 432 (b)y 450
(c) 468 (d) 486

Ans : (¢) TaT =1 AfGFAR #F = 650
SEAT A F g HH S T = 650 F 72 9AvE
65072

: FEHTF = — 468

V90 WY 5 WOl U 16% dNdes &7 H 3red
[TAT= AT &4 7
(a) TBII (b) T829
(c) T796 (d) T792
Ans : (d) TS =T990 , T = 5 79

T = |6 Ty aift=
OO0=16x5

50.

A = = =3 792

100

51. fearelt I WX 23% & @09 3T 9% W BN &
e @ i €928 ¥ wEl W fammsie g @
T oA T §7

(a) T2640 (b) T2880

(c) T2900 (d) ¥3220

Ans : (¢) 5 T 23% F A AR 9% F 2 F F=
e = 7928
AfG 7% TN T JoF x 8 a-
X(100+23) x(100-9)
100 100
123x —91x

100
32x

100
32x =928x100

=913

=925

x = 32900

52, Teredt fiae= =1 aifsa go T2100 o1 390 o
A & I I IO BT 20% AT 15% &
T3 ot figem=r = fermt ge= == ar?
(a) T1460 (b) 1428
(c) Z1365 (d) 1397

(b) ZZ F 715 fae =1 fagt =

IUD—EU“K[]Uﬂ—ﬁ}
100 J 100}

B0 H5

Ans:

= Zlﬂﬂx{

= 1418 %,

=2100x ——x
100 100

53,  WiEger 7 12250 H Uk = ANY fERar w=is
foorem 3 W AR o T fEw wn A
e & 3 o (dee & fEw @), One v

forgrem 3 W W 25: 24 % IgUA H =T § A

Forgrem 5 femamn farerer femam an?
{a) <2160 (b) F2480
(c) T2RB0 (d)y F2920
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hns:{c}wﬁﬂwﬁq‘;ﬁﬁ—x“ﬁﬁ
Al @rw 3 fven 1 i # sm
=2250x12 : x (12-3)
=2T7000 : 9x = 3000 : x
OO0 :x=25:24
3000 25
x M
xZSUU‘DxEd
25
X = 120x24 = 2880
fadg 3 3u% grr vt wRE @ afEe 70§,
INT 3T yATAA gWT T hIT & 3 56 %,
Wl vame A fad=s gmr urE = @
e 78 1 frdes 37 3f vame gor e

d,

a1

54,

T T A w §?
(a) 67 (b) 68
(¢) 69 (d) 69.5
Ans : (b) 3f%, fad= #1 =0 x
U 3N H 'y HAT THEA F 7 E Al
x+}":?ﬂz|11+},r:|4ﬂ ........... (1)
}“"'E=Sﬁa:|'[:,r—;r_=|12 ........... {11)
3;":?3 T 24X = 156 oo, (i)
TH YA 441 & dEd W
2(x+y+z) =408
o K+}r"2—1{}4
s 204
3: p-;,yﬂ“ﬂTzﬁElEEmﬂﬂaﬁﬂH: T:'E*E

15:1::5:3’?' ot xy=17

(a) 2:1 (b)y 1:3
(c) 3:1 (dy 1:2
Ans:{c}ﬁ'ﬂlw?ﬁlﬂ? 15:x:: Sy
155
X ¥
o X_15_3
y 5 1
x:v=3:1
56. T1200 T T AEA & AW 10% TEF Sl
=T T T = €1 ar At = o 2rm?
(a) T264 (by 246
(c) <240 (d) <252
Ans : (d) T = T1200, 3 = 10% FMH=
q9g = 2 =9

10 Y
Tafa BgYT =1200%] 1+ —
H( +lﬂﬂ]

bt

=IEUDxE =X 1452
100

= 14521200 = ¥252

EE AT

60 =% Terdt Sram &t &= o 36 fav o &

I W BET 00T OO B4 W, U W gite
I BIgeRT =t AT &1 I &l GO &I § Fel

57.

Tiremest fapa o =1 WO &m?
(a) 46 (b) 45
(c) 40 (d) 48

Ans : (a) 72T 60 =9FF | &9 1 S0 & = 36 &7 |
wH 4% x oA 7 60 =F I F T

T T4 @ Al

60x36  60=<6xx

] 1
x=6fEa

Hﬂﬁﬂmﬁ'ﬁﬂizli =l & bel o1 & 95

I = = 60-15 = 45

uﬁﬁnm:f

3}
maﬁﬁﬂmﬁrﬁ%mmﬁ%ﬁﬁﬁﬁ,

a

79 45 = % R

60x6 45xy
15
6 6
60x6 =9y
y =40
miﬁﬁﬁﬂﬁm=x—y=ﬁ+dﬂ=4ﬁﬁ:{

AT arar/Mental Ability

58. = ? & v W waifus 3oy fawen @
| E?
EV:27 0007
(a) 25 (by 26
(c) 27 (d) 29
Ans : (¢) 59 TR 9-
E Y 27
5+22 = 27
6T TR H-
! E;- c?
10417 = 27
59. rer 7 & TIA UT WAUE IUNTH (a@ed @
T &?
BCE : 4610 :: KMQ: ?
(a) 222634 (b) 111417
(¢) 111317 (d) 111217
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Ans : (a) fog 7w 8-
IRt
I [ EIHE T T
3x2
Sx2
a3t v=r 48-
| Ing:?'T :
13x2
17x2 m
60. 3T Ta&eT & FAG9 Hi Al & A9 U2 ° 2l
3t W | defaa € 90 fR gEn 1T vEe Ue
T HeEfie g
FATferagTer « WiEres :; a=eafayme ;7
(a) drg (b)
(¢) (d) g
Ans : (a) 589 TR ¥ =i § s @ s
faran o €1 & 3 wER § gAerfiere # gEdl (Is-
ety &1 g R S 2
61, ooy a1em sfwem o 19 = 3
BEH, DGJ, FIL, HKN, ?
(a) 1Jp (b) IKP
(¢) JKP (dy IMmP
Ans:{dlﬁﬂ?mwiﬂfﬁqﬁﬁm#ﬁ;
+2 7
7 +32
I Rx I
B E H ; FIL N M P
SEMATRIARLE ot
F2 )
+2 42
1 Tamed (d) 5E B
62. =T 38T sfmer o T S AT
AU, EO, 11, OE, ?
(a) SA (b)y 0O
(c) UA (d) VA
Ans:{c}ﬂ’rgﬂﬁmm#ﬁ-
vy © K 0§y 4 K 2
AU EO 11 0OFE |UA
[ +4 H 4 1 +6 ‘I‘I+gaI
a19: faEe (o)d 2
63. T e STEET ¥ AN F4T HEE?
CF, FL, 1L, ?
(a) 1 (by LO
(c) OF (d) MO
Ans : (b) & T 3R HEen e 2ei-
I_+;r v
CF F1 II-}I_(}
43 -+
I_T;Il I__‘I+1 I
oA: faseq (b) 98 2

64, T HeEET SEET § T = A
12,23, 34, 45, ?
(a) 32 (b) 54

(c) 36 (d) 58

Ans : (¢) & T HE SEen fead gut @nfi-
12 23 34 45 @
M1 1Y +11

+11

a: faEed (o) 2

65. T HwE sjEen ¥ s = e
151, 7, 181, 10, 211, 4, 241, ?
(a) 4 (b) 6
(c) 7 (d) 9

ﬁui'{c}ﬁﬁmjﬁﬁlﬁmﬁ—
181 10 211 4 241
I_’r L4 IJ I_I
1+5+1=1] |+&+1=10 2+1+1= 2+d+]=
¥ famed (o)F 8 §1

66, ey HEAT sTEeT W 30Tt W a = wit?
2225, 2289, 2361, 7
(a) 2400 (b) 2411
(c) 2421 (d) 2441

2225 2289 2361

| | f

6 +72 +80
I 1 )

+8
3 T: fomed (d)=d Zl

Ans : (d) & TE 3R HaEen fra -

+8

67. T HeET s ® aTer e a6 weit?
315,317,322, 329, 340, ?
(a) 352 {b) 353
(c) 357 (d) 363
Ans : (b) B e ga@a i w9 9@ e anh
ST I W SR HEAT SO g4 6 H HEeE
UF HWS ] e 0% e g W g

315 317 322 329 340
+13

| 1l g I A |
42

+5 +7 +11
R 2,5, 7, 11, T 13 39/ §ETT 2 3 TR W
e (b) od &

68. TfaTr-ud =t 37T @ U gU U A 45"
wdt i gd = faen ¥ g WA &, fee A 180°
W o€ T g Wi Ty § g e ¥

Ha 3o g Terw faum o £7

(a) T4 (b) 3H

(c) e (d) ufEm

31




Ans : (b) 71. e feu o wvm O uw wed yniver € fawes
i-_ ATET 3 A wArE 1 T 1 fEy e §) s
1§ sifem fafa IqE TF HIAT G R SEL A e e
| TR F P A 247
.4 'H“-{: ;}ﬂ. U F saaniE fFEr # o9nd § st
45" e ST = ey ?
ﬁﬁ'rﬂﬁ-ﬂﬁr; e feafd qeh:  1: %0, T8 WA A ® TEE O
. % Il : A&, @2 290 andm oftan soedt &5
I AW W WY ¢ 5 o9 § =w w1 0w s g T & F
4 (a) a7 1 9o &
69. AT IO il 3 5 fehefl. =rorem & 3w fhr (b) FAA T 1l Foad #
AT g3 W &1 3 fEdt. wem & =@ 9w e (c) A7t @k 17 & 7% 1l 7o @
A g W & w5 el w3 e e (d) & 1 &R & 11 9 g §
mmﬁﬁﬁ'ﬁh‘ﬂﬁmﬁﬁ? Ans : (a) MR § =TS HEE 9UTEl &0 SeEd
(a) I (by Z-uiEM fopan o AR Al W # gt @ e gud
(¢) afamr-ofy=m (d) =for-gE A % dyqen & & 9% tw w9 § s § it
Ans : (b) 9@ T = & 5 o A 990 F 37 § 99| ||F =men @ wwia @6 sy e smen 8
TRfeas fig & Fwe-ufvam fan # 2 A A ftaw el o AE wem @ g W
e Fad 7F (1) 740 2
72, '@l @ AEEA | FE #Ey A" @
O - &
18 (a) @ (b) T
freg T LT — (c) T (d) Td=TEw
| SRR g T Ans : (a) 58 "@R @ 99T F IR TgE W R
o FA 2 IO TEE T OHEY TER AW A F 2 FEE A
70, 9 20 TG oA F Um wu ynier § o || o0 e AW I a7 F €
AT B FE w1 o 1 Ry e &) ey | 73- 9 (AT W A W A o et o | I
oTE I HAT B R WA/ 7 aead IHft yahr & Hefed § S fo gEa ug e vy
87 H HaEa #;
FOT: T WEA F A F T 9 oy @ am: fewedt ;o : 7
afe? (a) el (b) IEFT
w1, T ad # el A A w9 8 (c) mfdadl 1 @m () it
s Ans : (b) f55 51 ¥ =37 39T (Dispensary) ¥ T
I : 78, 55 fofa & frafa s & Ssfiai || € @1 59 & S € S I TER H dgd A
AT & A (Armoury) § T @1 598 F A 2
(a) FaA 7% | Aad 2 74. G W AW H GG WAL T A AT .o T B
(b) A T 11 o 2 (a) AT (b) Fas®
(¢) A @ |7 € % [l 7odd & (c) &=@ (d) At
(d) ﬁ#lﬁﬁ%[[ﬁqﬁ%%‘ Ans:[a}ﬁmmﬁﬁjﬁwmmﬂﬂﬁﬂ%lﬁﬁ
Ans : (a) TR I Fafa s § o & A w|| | ven @ 9l w oo o gEy TEe 3 2
TTE # A AN § iU 3qesd g9 F S1a @ Rl Tt wEr | wefiw § 99 o ga ue ueer g
FHt st | e sEvEs T8 & 5w folg ¥ e sam # HafirT &
i A T A A i fe e § e e o : ¥ A : ?
7 (1) 7oA 7 (c) = (d) =
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Ans : (b) 59 ¥R ¥ 72 & 99 9 =1 v R s
FEF I OWER W AW F WG 9E S wE A
Eicild

Ans : (a) 8 sl | 99 ofafdm | sl & 3w
AT 9 A F AR UE A S 9 729 # 3 =9
FA 8 wAfE R W o 3 w9 smfEfE wE

76. 'EFG' '789' & 30T UEW § watum & o ||?) T W v wgh & wa s fwe a) @
'OPQ' .ovrr.n. T TR & st IMYW 7 77 &
(a) 171819 (b) 131415 80. HTHIA (X) ¥ fe@mw 7w srgan = it & 0%
(c) 151617 (d) 678 " T W AEAT & w3 L ferar
f’*““{“]mﬁmﬁ“‘? IHET faufia (opposite) T § @ @1 3ew
EF G —*; 8 9 .
| 5+2 k|
6+2 T K!
7+2 -
3% I TR 9- M|N
15 16 17 1o
O P Q—=17 18 19
l 15+2 (X) [P
16+2 (a) O (b) P
17+2 (c) N (d)y K
77. T 3T ST ST BT W UETT | Ans : (a)
: K
o &= o
A B C D M| N
(a) A (b) B
(¢) C (d) D = T:
Ans : (b) Rt &1 T sl & adw afafee & amf P
1 aE AT A 9 A AR A A HR A 9| || § T onFR F vie F A et F e oen
:I% 'L o @ 30e faeda frem § s oo 2
I AR I A g1 I ;W AT (B) 4 M

T 3 wE T B 7
78, & Terdrar AT UT uieyl vie (@i I A=
ToIET g3m) R Wrg femn wmer g oar ded
fearg gm?

71 P=TO0+~T 0180
P+ ol [F ; - o
fut B c D
(a) A (b)y B
(c) € (dy D

Ans : (a) & TE T WFH § R T W ey v
F AL AL A W I F AE AL F o+ O F
i 7 uE 2 AR & o+ fa i 00 F o g oud

3R famard 3m)
e sareRter Rt Ut W BT W Bty

WAN MYH | NVM WAN

Y AUHT 10 o AT Tk EeH AAIE & (70
wferered =2 o 81 sard e fafym q@og &
ey wiftaes wegia & weam | fafvle famar
ST &1 37 wwE W § v wEgia it e
£ 3 Iment fowr @t Sft g Tafae wew W@
Wit HT A Ao i STAT o A 1T
T 3T G Wi WA AT WA aTes Wit
T BT =nfE?

(a) TH Y=vE & fAU 3= wivmiEr 8 foreem

T A |

(b) =E % U S99 F Ay 425 =t T
(¢) I M § I& A

(d) T AW "99 o4 % fow w=m ofafs g

S F

Ans : (a) T8 W WY IEE § IEE H UF (AT THE
# M difas T g Bfls e s 8w e
fafgm oo & dfm wd s & oot S 2 A
Iaal fmr & i g 3w ffam v 9 sfes 997 T%
FEA H A & S E ) 3 37 & 39 YEeE & o
94 I=9 wfasfgl 4 fomres e afte fF i o=
Ao TH 7= fam o @ 2

81.
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8§2. W& HEAT SO 7, 13, 19 H 19%ff e
=T Bt ?
(a) 125 (b) 120
(c) 115 (d) 110
Ans: (¢) @ 7 aoft 713,19, ...
T, 4oft #3199y 92 a=7
ad B = 13-T=6
goft &1 1981 98 T, =7+(19-1)=6
Tio=T+108 =115

83, TamfafiEe sjEer 7 anmelt Jen we HJ g7
4,9,17, 35, 69, ?

(a) 139 (b) 138

(c) 140 (d) 142

(2) & E sfmen gt w9 & fremEe dnft-

U2 —] Jim 2 =1

Ans :

4 4 4y

EET | 1 Tx2+1 B2+

Frafefias sfEen ¥ el e & o &7
4,12, 16, 80, 86, 602, ?

(a) 603 (b) 610

(c) 608 (d) 620

Ans : (b) & T e quf w9 F ferad #nfl-

84.

87. TIZ@i @ Uk Uik °, faag = B W =6

T W & 3w faern Tnd B | AeE e o

e faerg 3w fasem & ffer ™mE o €

ufsh o fera w1ges £7

(a) 28 (b) 36

(c) 43 (d) 22

Ans ; (a) TSH F 9w § 90 IR O &g T FEH

@?T"-Fi@T:lU

34 B H foEw 7% Fa 5% @ gen = 7

faem wd famw F = o wea #1 @ = 11

dfehd # Fed e A OHET = 10+7+ 11 = 28

88. Tl WEM W ST (7, AT | 2 a7 UEet
BT & A7, WEA W gernrma fe, s faw
FALL
(a) HHER (b) HTAAR
(c) FHAR (d) IFHAR

Ans : (b) TEH & 37EAt & = IpHaR -2 A

Eﬁ:w=#ﬂm%ﬁ

TEA F 219 5 = A+ 11

7 10+7= 17 9§ fa = yan

qq1 17+4= 2191 A deER g

4, 12, 16, 80, 86, 602,
%7 1‘| +8

|34 +4 4 =5 4 +6 1|
(4x3) (12+4) (l6x5) (80+6) (B6xT) (602+5)

85. U &1 H oISRAT U U § @3 81 U
TIget, BFl BRT B A Hiewdl g1 wam o
ferert wraferat €7
(a) 27 (b) 30
(c) 31 (d) 23

Ans : (¢) 9% 7 == e F=fFEE ¥ ¥ 9 % A=

ufes 1§ ASfFa i g -

(16+16)-1 =32-1=31 &

86. fa=er4 giiem IOl i &, 349 § g, i |
TS AT w3 frer & wrered, o o
TR TS A Wiaatiar ¥ a8 o i 9
TOH FAHE T8 FET H R o 947

(a) 20 (by 25
(c) 30 (d) 28

hns:{d}ﬂﬁ@ﬂﬁmﬁﬁﬁmﬁmm
F1 & ud 8 @ v ¥ AR 9 A § 9eRd =WE W
21 =1 wien =t v gu A # wen

= (7+16)-1=22
wfefie o aufies @2 & 9en = 4
HAFA g ASH H HEA = 2
FH1 0 FA TIH A GE = 22+442= 28

89. g UECH T3 ol HUCEN & A TEed w7 =l
isisameises EA(
(a) THER (b) IHATR
(c) AR (d) HFER

Ans: (b) T&1 2 5 H | 97 7% T f& i den = 31
ﬁw%:%:z ()

T 15 F WA + 79 aR = IEFER &

90, fereft == 99T ¥ CRIMINAL =T RCINJLAN
&+ w7 ° fomr war g€ oW I oogmr o
TERMITES @1 &% w®ifga faar wmom?

(a) ETIPSNOK (b) TPIKMNB
(c) ETSNISET (d) SNIPOKLA

Ans : (¢) 79 =R 9-
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fardt Frz 9o ¥ GRAMMAR &1 HSBNNBS
& ®T U ferar T € oar IHt iz amer |
GRATING =1 &® shifga femam smomm?

(a) NIGRATG (b)y HSBUIOH
(c) ARGTGNI (d) ANCPOKL

91.

95, U@ WiEEm W W Fehd #d T UH 30A A
Fer, ''ag Wl fUer & umeA @e @t gEr #@
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